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3 BRI 25 2537 1 JERRIL 9 AT | LHAESE | 16 70 1120
4 JEBR O 22 B JERRIL 9 AT | LHAESE | 16 100 1600
5 JEBR SO 22 B JEBRIE 9 BT | BWAESE | 40 65 2600
6 BRI 25 ERBY JEBRIE 9 HAIRS | LHAESE | 14 65 910
7 JEBR SO 22 L JEBRIE 9 HAIRS | LHAESE | 14 90 1260
8 BRI 25 i# 7k JEERIP T AR | LURSE | 16 90 1440
9 JEBRBU = MaE JEERIKTE HAES | TRV 14 90 1260
10 BRI 25 WER JEERIP T AR | BWREE | 12 100 1200
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ek = £t evc e HAMES | BHAESIE [ 30 70 2100
ek = Hek Wevka WIS | LHAESE | 24 80 1920
vk ek Wekiied | BAES | LmERNE | 30 50 1500
ek E S Wekiied | BAES | LmERNE | 30 65 1950
vk e Wekiigede | BAES | LmEmgE | 6 80 480
ek JEHE WekiETE | BoRIES | BWREAIE | 14 120 1680
RIC i ik WekiETE | BoRIES | BWREAIE | 14 70 980
R ph 12 BRI 9 HAteS | tmEmE | 12 90 1080
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1 W EREOTF A BRI 9 WARMES | BWAENE | 12 90 1080
2 W EREOTF HIF 2 BRI 9 AT | LWAEE |8 120 960
3 W EREOTF I BRI 9 AT | LWAEE |8 90 720
4 W EREOTF U BRI 9 WARMES | BWAENE | 12 80 960
5 W EREOTF B BRI I WIS | WA | 12 80 960
6 W EREOTF fF4 % BRI I WIS | WA | 12 90 1080
7 W EREOTF " BRI I WS | LWAEE |8 70 560
8 BRI 5 BRI 9 HAteS | tmEmE | 12 80 960
9 BRI i BRI 9 RIS | LWREE |8 90 720
10 M AR 20t % H g BEEESIVIE S HAES | TOURVITE 24 90 2160
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1 AR Z = LISV H A% T 5E BT | LHARIE 8 120 960
2 AR Z = KRR LR DIIE S BT | LHARIE 28 80 2240
3 AR Z = Tk H A% T 5E BT | LHARIE 16 100 1600
4 AR Z = RR LR DIIE S BT | LHARIE 22 65 1430
5 H AR Z = T e SRS 3 BRIES | LRV 14 70 980
6 FH A% 00T = T SRS 3 BRiET | LHIRZIE 28 90 2520
7 H AR Z = I SRS 3 BRIES | LRV 22 70 1540
8 H AR HOT = I AR %% 42 % T 3% BRIES | LHIRSIE 30 50 1500
9 H AR HOT = EEBRAR 42 % T 3% BRIES | LHIRSIE 28 90 2520
10 H AR HOT = P 42 % T 3% BRIES | LHIRSIE 20 90 1800
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1 ERRHIT = R A PRI R BT | LHARIE 20 90 1800
2 ERRHIT = Pabies PRI R BT | LHARIE 16 90 1440
3 ERRHIT = M1 PRI R BT | LHARIE 16 70 1120
4 AR Z = f 73 H A% T 5E BT | LHARIE 10 100 1000
5 H AR Z = PURE SRS 3 BRIES | LRV 10 120 1200
6 H AR Z = M SRS 3 BRIES | LRV 2 90 180
7 FH A% 00T = RURES SRS 3 BRiET | LHIRZIE 20 55 1100
8 H AR HOT = FAERK 42 % T 3% BRIES | LHIRSIE 4 90 360
9 H AR HOT = iyl 42 % T 3% BRIES | LHIRSIE 12 55 660
10 H AR HOT = B2 42 % T 3% BRIES | LHIRSIE 24 55 1320
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1 AR PR 2B L& FOIZx BARES | TO0I%k 20 70 1400
2 AR PR 2B NV FOIZx BARES | TO0I%k 20 65 1300
3 AR PR 2B Hhive ST FOIZx BARES | TO0I%k 16 65 1040
4 AR PR 2B )t FOIZx BARES | TO0I%k 6 70 420
5 W NSP 23 a (CRIZIZ FII RS FII 24 50 1200
6 W NSP 23 a &S FII RS FII 12 70 840
7 W NSP 23 a (] S r'a FII RS FII 24 90 2160
8 AR5 BRI 2B T3 3 I Zx BRiES | LU0 20 70 1400
9 AR5 BRI 2B FA— BI0NZx BRfES | BOOI% 8 70 560
10 AR5 BRI 2B TH=E I Zx BRiES | LU0 12 70 840
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1 AR PR 2B X FOIZx BARES | TO0I%k 12 50 600
2 AR PR 2B X FOIZx BARES | TO0I%k 12 55 660
3 AR PR 2B 8 FOIZx BARES | TO0I%k 12 90 1080
4 AR PR 2B 4R FOIZx BARES | TO0I%k 12 80 960
5 W NSP 23 a FH] FII RS FII 12 65 780
6 RERHI = FHA I EUEENERE 3 BRiET | LHIRZIE 28 60 1680
7 REFRHIT S Sl GBS S BRIES | LRV 24 110 2640
8 BRI = S FEEREKTE BARIRS | BHRSIE 4 100 400
9 PTG H = PR BB TEARE S PR Lo e 5% 4 90 360
10 FAEHH = %5 DRI 3 /e, PR L IH L% 6 80 480
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1 HEsk = ) HERRER2E BT | LHARIE 32 70 2240
2 HEsk = EVENN HERRER2E BT | LHARIE 32 65 2080
3 HEsk = B HERRER2E BT | LHARIE 28 80 2240
4 HEsk = fME HERRER2E BT | LHARIE 32 65 2080
5 HEERH = jage) HERRER2E BRIES | LRV 32 50 1600
6 Hesk = LTt HERRER2E BRIES | LRV 32 50 1600
7 INERBUIT kS PEERILRETE | FRIRT | BUIRIIZE 32 80 2560
8 NERHITE Zh PBERILAETE | BORIES | THRYIGE 40 65 2600
9 INERHURIT 2 B ERIRIAESE | BORIES | LRI 20 80 1600
10 NERHITE X FEFCERICHESE | FRIES | RIIRSIE 20 50 1000
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AT = TR JETEAE 5. VPR TRt 4 80 320
AT = T KRR JETEAE 5. VPR TRt 2 90 180
JEHT = & H PR 6. VPR TRt 6 80 480
JELE O = s AT RS VPR LR 4 90 360
JELE O = W R AT RS VPR LR 4 70 280
JEHTE FZ PATERE S 8% HE| LUiRaETE 6 65 390
JHB A E o AN PATERE S RS VPR LUiREE 6 80 480
JEHTE ST PATERE S RS VPR LUiREE 4 80 320
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LT U fAT$4 AT 3 TR VPR TR 4 90 360
AT = G SUIEAN JETEAE 6. VPR TRt 4 120 480
FARHT = PR3 TR S RS PR LUiHRe 4 70 280
AT = Mot JETEAE 6. VPR TRt 4 65 260
JELE O EipAts AT RS VPR LR 6 70 420
FHE AT = UK PR 6. PR TRt 6 70 420
JEHT = T PR 6. VPR TRt 6 80 480
JEHT = R PR 6. VPR TRt 2 120 240
JEHTE KA PATERE S e VPR LUiREE 4 80 320
JEHTE [ PATERE S e VPR LUiREE 4 100 400
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